PRACTICE MATERIAL FOR APTITUDE TEST PREPARATION - ECAT/ SZABIST/ BS(COMPUTER SCIENCE)

(BGCO01-ZT-01E)

e The height of Godwin Austin (K-2) meter.
A) 8626
B) 8611
C) 8661
D) 8650

(BGCO1-ZT-02E)

e The largest ocean in the world is
A) Atlantic
B) Asian
C) Pacific
D) Indian

(BGCO01-ZT-03E)

e Harappa is situated near in Pakistan.

A) Larkana
B) Lasbela
C) Sahiwal
D) Shorkot

(BGCO1-ZT-04E)

e Etnais avolcano in
A) ltaly
B) Spain
C) Japan
D) Indonesia

(BGCO01-ZT-05E)

e Which lake is the largest in the world?
A) Red Sea
B) Caspian Sea
C) Lake Superior
D) Lake Baikal
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PRACTICE MATERIAL FOR APTITUDE TEST PREPARATION - ECAT/ SZABIST/ BS(COMPUTER SCIENCE)

(BGCO1-ZT-06E)

¢ Which country is known as the Land of the Midnight Sun?
A) Japan
B) Switzerland
C) Norway
D) Finland

(BGCO01-ZT-07E)

o Which of the following is the biggest Island?
A) Sri Lanka
B) Australia
C) Tabhiti
D) Greenland

(BGCO01-ZT-08E)

e The Suez Canal joins the Mediterranean Sea with?
A) Caspian Sea
B) Dead Sea
C) Red Sea
D) Arabian Sea

(BGCO01-ZT-09E)

¢ When does the earth change its angle?
A) Dec-22
B) Dec-16
C) Jun-19
D) Jun-23

(BGCO1-ZT-10E)

e Furthest planet from the Sun.
A) Venus
B) Pluto
C) Neptune
D) Saturn
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PRACTICE MATERIAL FOR APTITUDE TEST PREPARATION - ECAT/ SZABIST/ BS(COMPUTER SCIENCE)

(BGCO01-ZT-11E)

¢ River Thames is in which country?
A) Canada
B) Australia
C) England
D) Brazil

(BGCO01-ZT-12E)

o Where is the Swiss canal?
A) Syria
B) Yemen
C) Turkey

D) Egypt

(BGCO1-ZT-13E)

¢ Which of the following is the largest of the Earth’s oceanic divisions?
A) Pacific ocean
B) Atlantic ocean
C) Southern ocean
D) Indian ocean

(BGCO1-ZT-14E)

o World’s largest irrigation system is in
A) India
B) Pakistan
C) Australia
D) Germany

(BGCO1-ZT-15E)

o Which International Line separates Russia and Poland?
A) Curzon Line
B) Separating Line
C) Border Line
D) Furtive Line
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PRACTICE MATERIAL FOR APTITUDE TEST PREPARATION - ECAT/ SZABIST/ BS(COMPUTER SCIENCE)

Answer Key
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